G6 M5 L5 & 6 Quiz
Name: Date: Block/Roster #

Directions: Answer all 4 questions by showing your steps. Circle your final answer. You may use a calculator
to check your work.

1 What is the area of the figure below?
9in.

4in.

8 in.

6in.

2. Determine the area of the wooden walkway around the courtyard. The courtyard is the center region in
the diagram.

T e e e A e
o ety e e o Y e o
i e eheEle el e o Obonoha e CARORG
e e T e e e e e
el S ket etaren _ ettt SN peteletelen
!
T z = h io & . I 2 " A R
o e
=3 o - o =

S ey S
Rty et e F e e
F T AR Ty,
T e
A R
! ey e 5 !
35 ft, i 55 ft.
T rerered T
o " ] Ty
= s "y - o =
] R
R TR
o ryverrareed A
= e 75& e
ECHECHERICRERD 4 o 14 ot 1 4 1t AN A ot e s A ot P R
R e b e A A e e e PR
oo et e e I eRere T e
o B e e Ty e A Ty
= e = 2 e = ¥ = e 5 =

100 ft.



G6 M5 L5 & 6 Quiz

3. First, fill in the missing dimensions on the figure. Then, Calculate the area of the figure.

ft.

9 ft.

ft.
21

3 ft.

8

4 ft.

10 ft.

4. What is the area of the unshaded part of the figure?

8 cm

3 cm

6 cm

8cm



